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The given pie chart shows the distribution of voters in different town.

fer mam urE = fafir= st # waerareti & faawr i guriar 2

TOTAL VOTERS= 40,000
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Question 1- Find the total number of voters in C and E.
Y4 1- C 3R E 4 9agTar3f &l el G&A1 J1d 119y

TOTAL VOTERS=40,000

A. 12000

B. 14000
__C—16000

D. 15000

E. NONE OF THESE
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Question 2- If 2800 voters in A cast there votes then so who have not cast there

vote in A 1s what percent of total voters.

9 2-gfe A | 2800 HASTAT 981 HdeH Hid & dI A | fra- gaeq 731 fFar e, a8

& HAgTaT3l &l feha-r gfaerd 27 2
AIAL VOTERS= 40,000
Lo
A. 28% Lfo
B. 30%
C. 40%
D. 60%
«—E—None of these

BEA BB EC mD OE B



G MISSION BANK-2024 s 231 w =¥ (3 |
(D lotd votes ju A= 167. 40000

= Hooo

—

Vofe (et = 800
EOW?- = L/OOO ‘Q?&Oo
- /Q?OQ = 5’7




MISSION BANK-2024 7523y ar <X .‘

Question 3- If 40% of voters in B, C and D opted NOTA then find what
percent of total votes in these town have given vote other than NOTA.

¥4 3-34fe B, C 3 D & 40% HAQTdr3A{ = F1eT IA1 2 a1 J1d hife foh 37 e d

A.

n o0k

10%

30%

44% \ (
20%

None of these

D TOTAL VOTERS= 40,000
EAEBECED DEm
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Question 4- If the number of male and female voters in E i1s 8:3 then find total

number of male voters in E.

¥4 4- AfE E | T8 3 Afee Aaararsii il 9 8:3 a1 E § 79 Haararsii &

el &A1 JTd =i P
>
A 6400
B. 4400
C. 5400
€ C
D. 6600

E. None of these

D  TOTAL VOTERS= 40,000
EA @B EC mD mE B



G MISSION BANK-2024 o2y & =X L3

D Votew 4% & = 214 Howo

= Moo

(m F)=(8 AP 1=880c
[= Joo
Md’ d = Joox g

:6%0




MISSION BANK-2024 o2y a—=F .‘

Question 5- If 30% of the total votes has been rejected then number of voters
who are 40 year and above age in D becomes 2400. Find how many voters are

below 40 years in D. D
U 5- afe et wal H ¥ 30% IR L QU T E ar B | Hal i G, F H qdl
@Eﬁrd@ﬁﬁmﬁuﬁmw

A. 1160
B. 2260

C. 1260

E. None of these

)  TOTAL VOTERS= 40,000
EA BB ECmED OE B
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Question 6- Find the compound interest if the principal 1s equal to the number of voters

in C and the rate of interest if equal to the number value of percent of voters in &+

~

Y4 6- A< qerad C H HaaTarst sl G & sal & 31 o471 3l a1 A< B | Haararsti &

aﬁmaﬁm%m%ﬁm{&wamﬁml

A. 1112
B. 1312
C. 1413
D. 1512
E

. None of these

TOTAL VOTERS= 40,000
DA BEBmEC mD OE BF
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the table shows the ratio of boys and girls from these respective school.
et feam ma arg = fafy= T # s & e =i qeiiar & 3R arfors 37 gafa
el o AGHI I AS(HAT o JTAUTA I 2T ol

LTOTAL STUDENTS= 4000

Hp BEQ mR mS @T
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Question 1- Find the number of boys in P and Q.

9 1- P 3T Q § iSR! ohl AT JTd IS0

129~ TOTAL STUDENTS= 4000
600
460
. 540

None of these

A.
B.
C.
D
E.

Er BEQ ER mS @T
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Question 2- The number of girls in R 1s what percent of number of

boysin P.
125.5% 4 2- R ° AT il &A1, P § ASh! I AT 1 ford-r afaera 82
185.5% TOTAL STUDENTS=4000
176.5%

. 112.5%
Lone of these

A.
B.
C.
D

(1]

liz]
-
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Question 3- Find the central angle for boys in R.@H#

H%T3-R‘ﬁ SRl o foTU &g ShivT J1d IS ZMF:OHD

Oy

u « O4
A. 884° @ 3 @(gg‘crs Dol
0 TOTAL STUDENTS= 4000 7% Al |
B. 89.4 ZEIR
C. 98.4° "R
D. 834°
E.Lﬂonc'of these

Ep EQ EBR EBS OT
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O bt 5?7—: Hoo+ 30+50 +§00 S= 30‘/@1%0@0
B%//’? R= 250 -—*—-o?cj-;oﬁoo 2= R0
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Question 4- Find the central angle for girls in T approximately.

U9 4- T ° ASHAT & foTT SHE1 I AT 1 kT

88.4° o ddpuct o Fohd ol
757 TOTAL STUDENTS= 4000

45°

60°

None of these

Er BEQ ER mS @T
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A.
B.
C.
D.
E.

23.55%
33.55%
31.25°%
45,55%
None of these

Question 5- 1f thare 80 more boys in S then number of girls in S
1s what percent of total students in S.

Y% 5-afe S 7 80 Atk cIgeh 2 dl S § AS(wAl il &1 S 7 Fel

EIEIEIREC IR IGEIG Y,
TOTAL STUDENTS=4000

Er BEQ ER mS @T
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Question 6- If 20% students in Q has been selected for quiz. Find the

probability that 2 girls will win the quiz.
A 7/39 T4 6- A2 Q H 20% BTAT I foarst o fere == a1 21 2 i = faast sftad

B 1/31 AR IPETIRIGE AL
C. 3/35 TOTAL STUDENTS= 4000

D. 5/84

E. cN)p:e’(ﬂ'thc-':se

Er BEQ ER mS @T
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A

B.
C.
D.
E.

; 120

720
600
24

None of these

Question 7- If 2% boys in T 1s to be seated on a round table then how

many ways are possible.

U 7- FfE T & 2% ASHI I Ueh TTed BT UL 93T © df o diieh 999 &7

TOTAL STUDENTS=4000

Er BEQ ER mS @T
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